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[ > simplify(3*x+4*x+2%y);
L Tx+2y (1.2.1.1)
> expl:=3*sin(x)"3-sin(x)*cos(x)"2;
simplify(exp1);
expl =3 sin(x)3—sin(x) cos(x)?2
L —(4 cos(x)2-3) sin(x) (1.2.1.2)
> simplify(exp1,{cos(x)"2=1-sin(x)"2});
4 sin(x)3—sin(x) (1.2.1.3)
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expand(expl):FR
> expand((x+y)”2);

| X2+ 2xy+)? (1.2.2.1)
factor(expl):EIE 53 iR
[ > factor(4*x"2-6*x*y+2*y~2);
L 2 (2x=y) (x=y) (1.2.3.1)
normal(expl):¥953 - B
[ > normal((x+y)/(x*2-3*x*y-4*y~2));
1
I 1y (1.2.4.1)
> normal(1/x+1/y);
rrx (12.4.2)
L xy
collect(expl,exp2):AZEHTE L H S
[> collect(4*a*x"2-3*y 2/x+6*b*x*y+3*c*y+2*y"2,y);
(—%+2)y2+(6bx+30)y+4ax2 (1.2.5.1)
combine(exp]) THERNTEIEH S
> combine(sin(x)"2+3*cos(x)"2);
2 + cos(2 x) (1.2.6.1)

;ort(expl ):BANRE, BERE

> sort(expl,[x,y]);

> sort(expl, [x], opts);opts=tdeg(#5REUE),plex@ E T NE),ascending(F/E), descending
| (FEIE)

> expl:=x"3+4%x-3*x"2+1:

sort(expl);
| B-324+4x+ 1 (1.2.7.1)
> sort(expl,[x],ascending);
L 1+4x-3x2+x3 (1.2.7.2)
> exp2:=x"3-a*x*y+4*x 2+y"2:
sort(exp2);
B —axy+x3+4x2+ )2 (1.2.7.3)
> sort(exp2,[x]);
B B +4x2-ayx+)? (1.2.7.4)
> sort(exp2,[a,y]);
sort(exp2,[a],plex);
xay+y2+x3+4x2
—xya+)2+x3+4x2 (1.2.7.5)
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